— %ISR TUR)R

- — 2B H
ISR K&1 K&2 K43 O35 4 HE

SR3XVIEZ) = B — — 0 0 0
SR3(XVHE ) R EX — — 0 1 1
SR3(XVAE L) LA BBF — — 0 0 0
SR3(XVHEH) LK &5 — - 0 0 0
SR3(XVAE L) B ETE — - 0 1 0
SR3(XVHE L) BHAR X — - 0 0 0
SR3(XVAE L) Rk 172 — — 0 1 0
SR3(XVHE ) B ¥ — — 0 0 0
SR3(XVAE ) M = — — 0 0 0
SR2(MVFE ) KA EE — - 1 1 1
SR2(MVAE ) i W — - 0 0 0
SR2(MVAES) IRA B - - 0 0 0
SR2(MVFE 24) A EE — - 0 0 0
SR2(MV#E %) FIE L — — 0 0 0
SR2(MVAE L) #0O B# - — 0 0 0
SR2(MVFE &) A+ AlZ — - 0 0 0
SR2(MV#E %) %E 2D - — 0 0 0
SR2(MVHEZE) B ik — — 0 0 0
SR1(MSHE ) INE E B — - 0 0 0
SR1(MS#EZ) ME Z4 - - 0 2 0
SR1(MSHE ) WS BR — - 0 0 0
SRO(ME#E %) I K — — 0 0 1
SRO(ME#E &) EE —18 — — 0 0 0
SRO(ME#E &) ®hH E£E — — 0 0 0
SRO(MEAE %) ® HE — - 0 0 0
SRO(MEFE ) %% 4t — - 0 0 0
SRO(ME#E %) R X — - 0 1 0
SRO(MEFE %) ol EF — - 0 0 1
SRO(MEFE ) EKR M — — 0 0 0
SRO(MEFE %) hit & — - 0 0 0
SRO(MEFH ) e X— — — 0 0 0
SRO(MEFH ) B E# — - 0 0 0
SRO(MEFE ) IRA #HE — — 0 0 0
SRO(ME#E %) Bl — — - 0 1 1
SRO(ME#E %) EEENE — - 0 0 0
SRO(MEFE &) SHIA E— — — 0 0 0
SRO(ME#E %) Nt T — — 0 0 0
R3(XVAH) XL —mk A E— AR IEX 0 0 0
R2(MV#E ) E5 X HHE &ME Z[R B 0 0 0
R1(MSHE ) HE Eth IH RF EEEX 0 0 0
R1(MSHE ) £ E3VIY [P BAzDV 0 0 1
RO(ME#H %) AGRHAEE |JIE JIX He Alt 0 3 0
RO(MEFE ) R X NS RE R X 0 0 0
RO(MEFE &) RKAR Rt | B & R HiE 0 0 0
RO(MEFH %) EEEX INR FIE INEF EF 0 1 0
RO(ME4E &) & DI T B HRPAFA 0 0 3
QEIBHE-EIFHZEOH) [FE A - — 0 0 1
CRIBHE-EHEFDH) [/I#H Z— - - 0 1 0
QEIBHE-BHIFOH) [Ein BF — — 0 0 1
QCEIBHE-BEHIFOH;) | AT BERR - — 0 2 0
QEIBHE-EIFHIZFOH) |BEk RIE — - 0 1 0
QEHEBEHE-BHEISOH;) |EE ERF - — 0 1 0
QEIBHE-EIFHIHZEDH) [{£E 5AEA - - 0 1 0
QEIBHE-EIFEHOH) [REF 1= - — 0 1 0
QEIBHE-EIFEHDH) [FFg FEE — — 0 1 0
CQEIEHE-BHIFOH;) |[B FT - - 0 1 0
QCEIEHE-EBHIFDOH) [EAX E—E — - 0 3 0
QEBHE-ESIEDH) | =7 8hiF — - 0 1 0

=3 T 25 T

A

X ® UOSAN2EIELE



